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N=1

NMAX=100

R(1,1)=0.5*H*(F(A)+F(B))
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N=N+1

10

þ +��

SUM=0

SUM=SUM+F(A+(2*i-1)*H)

i=1,2**(N-2)

M=1,N

R(N,M)=R(N,M-1)+
(R(N,M-1)-R(N-1,M-1))/(4**M-1)

20

OMAX>DR

DR=ABS((R(M,M)-R(M-1,M-1))
/R(M,M))

N<NM STOP

.

R(N,1)=0.5*R(N-1,1)+H*SUM
	ü���

N, R������ DR



�.��ù�+��ÿ,����FORTRAN

PROGRAM ROMBERG
C
& ���+�ù��ù �����þ�
�þ� �
�ù�	þ�þ� �ü 	þ� �ü,�û� 520%(5*

C
& 10��ü+ÿ�	�� �ÿ,ù��� ù�ÿ,��� ü�ù�ù�þ�ü
� �

PARAMETER (NM=100)
& 5� �ÿ�ù�ù� 	ÿ�
� 
����+ÿ���


DIMENSION R(NM,NM)
& ��ÿ���� �
�ù�	þ�þ� ���� �����þ�
�þ

F(Y)=Y**(3*Y)*SIN(3.1415926*Y)
& 20$;��ü+ÿ�	� ü�ÿ	�ü�	þ ��ü	ÿ�þ ù����ÿ�þ ù��	ü�ü��ù	��

WRITE (*,*) 'OMAX='
READ (*,*) OMAX

& $� �ù	
 ��ÿ� �����þ�
�þ�� %� ù�
 ��ÿ� �����þ�
�þ�

WRITE (*,*) 'A='
READ (*,*) A
WRITE (*,*) 'B='
READ (*,*) B

& +� %+0$ 2����þ�
�þ�

H=B-A
& 1� ù�ÿ,��� úþ�ù	��

N=1
R(1,1)=0.5*H*(F(A)+F(B))



5    N=N+1
H=H/2.
SUM=0.
do 10 I=1,2**(N-2)
SUM=SUM+F(A+(2*I-1)*H)

10 CONTINUE
R(N,1)=0.5*R(N-1,1)+H*SUM
do 20 M=2,N
R(N,M)=R(N,M-1)+(R(N,M-1)-R(N-1,M-1))/(4**M-1)

20  CONTINUE
& 
����+ÿ���� ��ü	ÿ�þ� ù����ÿ�þ�

DR=ABS((R(N,N)-R(N-1,N-1))/R(N,N))
& ü++�ù-þ ù��	ü�ü��ù	�� �ùÿ ù����ÿ�þ� �ü �ù,ü ü�ù�ù�þ�þ

write (*,*) N,R(N,N),DR
& ü�ü+��� �
+��þ�þ�

IF (OMAX.GT.DR) GOTO 30
& (�ü+��� 
�ü�úù�þ� ��ÿ�
 �ü+ÿ�	þ� ûÿù�ü�ÿ�þ�

IF (N.GE.NM) STOP   
GOTO 5

30  CONTINUE
END

����ù�+��ÿ,����FORTRAN
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